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Find the slope of each line.
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Find the slope of the line through each pair of points.

9) (17,-6), (-11, 7)

11) (=20, 14), (17, 15)

10) (3, 4), (-4, -5)

12) (11,-18), (-

1,-7)



Sketch the graph of each line.
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Write the slope-intercept form of the equation of each line.
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34) Tx+2y=-28

36) 2x+ 3y=-7

38) 4x-3y=6




Write the slope-intercept form of the equation of the line through the given point with the given slope.
49) through: (-1, 1), slope=1 50) through: (2, 5), slope =2

52) thro . 511‘ 1 =-1
51) through: (1, 1), slope:—% ) through: (5, 1), slope

53) through: (-4, 3), slope =i 54) through: (4, 3), slope:%

Write the slope-intercept form of the equation of the line through the given points.
55) through: (5, 2) and (0, -5) 56) through: (5, 5) and (-1, -1)

57) through: (2, 1) and (4, 3) 58) through: (0, 2) and (3, 5)



1.

The graph below represents the distance in miles, y, Car A travels in x minutes. The table represents the distance in miles, y,
Car B travels in x minutes. Itis moving at a constant rate. Which car is traveling at a greater speed? Show work.
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Car B:
Time in minutes Distance in miles
(x) (62)
15 12.5
30 25
45 37.5

The local park needs to replace an existing fence that is 6 feet high. Fence Company A charges $7,000 for building materials and
$200 per foot for the length of the fence. Fence Company B charges are based solely on the length of the fence. That is, the
total cost of the six-foot high fence will depend on how long the fence is. The table below represents some inputs and their
corresponding outputs that the cost function for Fence Company B assigns. It is a linear function.

Input Output
(length of fence in (cost of bill in
feet) dollars)
100 26,000
120 31,200
180 46,800
250 65,000

a.  Which company charges a higher rate per foot of fencing?

b. At what number of the length of the fence would the cost from each fence company be the same? What will the cost be
when the companies charge the same amount?

C. If the fence you need were 190 feet in length, which company would be a better choice?



3. The equation y = 123x describes the function for the number of toys, y, produced at Toys Plus in x minutes of production
time. Another company, #1 Toys, has a similar function, also linear, that assigns the values shown in the table below. Which
company produces toys at a slower rate? Explain.

Time in minutes Toys Produced
(x) (y)
5 600
11 1,320
13 1,560

4. Atrainis traveling from City A to City B, a distance of 320 miles. The graph below shows the number of miles, y, the train
travels as a function of the number of hours, x, that have passed on its journey. The train travels at a constant speed for the
first four hours of its journey and then slows down to a constant speed of 48 miles per hour for the remainder of its journey.

Y

300 /

280

260 /

240

220
200

180 /
160

140 /
120 /
100

80 /
o
40

20 /
/ x

0 1 2 3 4 5
Time in Hours

Distance in Miles

a. How long will it take the train to reach its destination?
b. If the train had not slowed down after 4 hours, how long would it have taken to reach its destination?

c. Suppose after 4 hours, the train increased its constant speed. How fast would the train have to travel to complete the
destination in 1.5 hours?



a. Ahoseis used tofill up a 1,200 gallons water truck. Water flows from the hose at a constant rate. After 10 minutes,
there are 65 gallons of water in the truck. After 15 minutes, there are 82 gallons of water in the truck. How long will it
take to fill up the water truck? Was the tank initially empty?

b. The driver of the truck realizes that something is wrong with the hose he is using. After 30 minutes, he shuts off the hose
and tries a different hose. The second hose flows at a constant rate of 18 gallons per minute. How long now does it take
to fill up the truck?

In order to join an online learning community, there is a startup fee. Emily pays $50 for 6 months, including the startup fee.
Yasser paid $60 for 8 months, including the startup fee. How much is the startup fee? Write an equation to represent the pay, vy,
as the function of months, x.



